Tutorial: Dummy Variables and Interaction Terms
in Regression
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Dummy (Indicator) Variables in Regression
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e Consider dummy variable of /(i college grad)

e Y; = Bo+ B1l(i college grad) + ¢; 0
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Interaction Term in Regression C Y dapnd
C M‘: I C P‘O\h)

@ Recall: Y; = By + B1(i college grad) + ¢;
° /61 = Vcol/ege - VHS

@ Question: Do returns to college education differ by gender?
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Dummy Variables With More Than Two Levels
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e Y; = o + f1l(Bachelor) + 52/(Master) + 3/(Doctorate) + €;
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@ What is the omitted educational attainment category?
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@ How to interpret (337
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Factorial Experiments Application = Pert

@ Goal: encourage students to start asagnmentey\ {’-r\]

@ Interventions: 1) Typical Message, 2) Informational Message
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e Factor: 1) TA sends email, 2) Instructgr sends email
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@ How to meag'ure differential impact on assignment grade?
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Factorial Experiments Application

e Y = Bo+p1l(info)+ Bal(Instructor)+ [331(info)l(instructor)+e

@ How to interpret (5o?
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e Y = B+ B1I(TA) + B2l(Instructor) + €
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@ How to interpret 517
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e Y = a1l(TA) + aqxl(Instructor) + €

Dummy Variable Trap

@ How to interpret a7

%= g(1]18=1), = £ (Y |Lashck=()



Alternative Representation of Factorial Experiment

e Y = aal(info) x I(Instructor) + al(info) x I( TA) +
asl(instructor) + asl( TA)

e How to interpret a3?
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o How to interpret a;?
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